
∫
Adµ

����� ���	��
�� 
���
���
���
�
����	��

�������! "$#%"�&'�%"�(*)�+,�%".-/�0��1*243�(65*78-/�
9/1*7:".- "��%"<;>=�?�@A1��� 5%7�- 76BDCE5�1*��+F-/�'��1*2G&'H�2I)I J - )�?��!1*K

LM �%">",N6O
N�PRQ O!STQ U�V!WTQ OIS	Q V!OIOIX

Y4Z\[^]M_a`TZ^bdcEe�egf�[^hji�k\h6bmln`T[^]M_porqtsElah.lvuwcEe�sMlyxzcEe|{�}�~.~������y�a�<�

���r�����������

�����\�
�E�d�T�������|�m�F�d� �a� �� �¡

(x, y, z) = (1,−1, 2)
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(x, y) = (x(z), y(z)) ª�« ��¥­¬8®��,�d�°¯�¥m�d±6�/¡,� � §8¬8®²���m�0³,¥m���­¬8® � ��¦I�6�

x2 + y2 =
1

2
z2, x + y + z = 2
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(x, y) = (0, 1) ¸ ¥d¥m�<¢¹£�¥d�6�/¡ � ��¦!���F£��­´º± � §���§¨�d¡$¡.���'»�§8��� � ��¦¹���6§�� � �� �¡¨�m©I� y = y(x) ª
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Φ(x, y) = x2
− xy + 2y2 + x− y − 1 = 0
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